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(V-w) LS
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W= &)Y, +<, ¥, +<3Y3
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V-w) L S
=> V-w) oV,:*-O
(V-w)-V, =0
(V--oo). Vy =0
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D.VS -':\/.y3
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11/1/04 T:55 AM MATLAB Command Window

Using Toolbox Path Cache. Type “help toolbex path cache" for more info.

@5;) To get started, select "MATLAB Help" from the Help menu.

>» xl=[1 1 1 0 0};
>» x2={0 1 1 1 0];
> x3={0 0 1 1 1];
>> pl=x1/{sqgrtidot(xl,x1}}}
pi =
0.5774 G.5774 G.5774 0 g
>> v2=x2-dot (pl,x2])*pl
v =
~{.6667 §.3333 0.3333 1.0000 0
>> pR=v2/sgrtidot{v2,v2))
p2 =
~0.5164 g.2582 0.2582 0.7746 0
>> v3=x3-dot (pl,x3)*pl-dot{p2,x3)*p2
v3 =
0.2000 ~0.6000 0.4000 0.2000 1.0000
>> p3=v3/sqrt (dot(v3,v3)}
p3 =
0.1581 ~0.4743 0.3162 G.1581 0.73806
>> [det{pl,p2; dot{pl,p3} dotip2,p3}]
ans =
1.0e-015% *

-0.2220 £.0833 0.063%4

>
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u=[1 1 1 1 1}
proj=dot(u,p1) * pl+dot(u,p2) * p2+dot(u,p3) * p3

proj =
(0.7500 0.7500 1.5000 0.7500 0.7500)

: - [3 3 2 32 3
PR >3 2)
Let © be Al au«-af/e

coso= AP 9487

q———

111 J1p~j1]
G = 18'4"32. d%)fggs




11/1/04 8:40 AM MATLAB Command Window

Using Tcolbox Path Cache. Type “help toolbox _path cache" for more info.

To get started, select "MATLAB Help" from the Help menu.

>> A={3 2 1 ~1;5 4 5 0;6 -7 6 ~-5;9 -8 -12 4]

A =
3 2 1 -1
5 4 5 G
6 -7 & -5
9 -8 -1z 4

>> Mlii=det ([A{2,2} A(2,3) A{Z2,4);A(3,2) A(3,3) A(3,4):A(4,2) A(4,3) Al4,4)])
M1i =

186
>> MlZ=det {[A{2,1} A{Z,3} A(2,4);A{(3,1}) Al(3,3) A(3,4);A(4,1) A(4,3) A(4,4)1)
MiZ =

~525
>> M13=det ([A(2,1) A(2,2}) A{2,4)y;A(3,1) A(3,2) A(3,4);A(04,1) A(4,2) Al4,41])
Mi3 =

-616
>> Mld=det {[A{2,1) A{Z2,2) A(2,3);A(3,1) A{3,2) A(3,3);A(4,1}) ~ 4,2} A(4,3)1]}
Mi4 =

1239

>> M2i=det ([A{1,2} A{1,3) A(L,4);A(3,2) A(3,3) A(3,4};A{4,2) A(4,3) Al4,411;
M2 =

~136
>> M22=det {[A{1,1) A{L,3) A{1,4):;A(3,1} A(3,3) A(3,4):;A(4,1) A(4,3) Al4,4}])
M22 =

-51
>> M2Z3=det {([A(L,1) A{l,2) All,4};A{3,1) A(3,2) A(3,4);A(4,1) A(4,2) A{4,4)])
M23 =

-357
>> MZ4=det ([A{Ll, 1) A{1,2) A(L1,31;A(3,1}) A(3,2) A(3,3};A4,1) A(4,2) A{4,3}1])

M24 =



11/1/04 8:40 AM MATLAE Command Window rage 2

663
>> M3l=det ([A(1l,2) A(1,3} A(l,4};A02,2) A(Z,3) A(2,4);A(4,2) R{4,3) R4, 4}])
M3l =

32
>> M32=det {[A(1,1) A{L1,3) A{l,4};A(2,1) A(2,3) A{Z,4):A(4,1) A(4,3) A(4,4)];
M3Z2 =

145
>> M33=det {[A(1,1) A(l,2) A(l,4};A(2,1) A{Z,2) A(2,4);A4,1) A(4,2) A{4, 43 ])
M33 =

84
>> M3d=det {[A(1,1) A(1,2) A{l,3}:A{2,1) A(2,2) A{2,3):;A(4,1) A(4,2) A(4,3})1)
M34 =

114
»> Mél=cdet {[A(1,2} A{l,3} A{l,4);A(2,2) A{2,3) A(2,4};A{3,2} A{3,3}) A{3,4}])
Mal =

-89
>>» MdZ=det {[A(1,1) A{1l,3) A{L,4);A(2,1) A(2,3} A{Z,4)Y;A{(3,1) A(3,3) A(3,4}]}
M4z =

-5
>> MA3=det {{A(1,1}) A(l,2} A(l,4)};A{2,1) A{Z,2) A(2,4):;A(3,1} A(3,2} A(3,4}])
M43 =

49
>> Mdd=det ([A(1l,1} A{(Ll,2} A{1,3):A((2,1) A(2,2} A(2,3):A{3,1) A(3,2) A(3,3}]}
Md4 =

118
>» Cofac=[M11 -M12 M13 -M1l4;-M21 M22 -MZ3 MZ24;M31 -M32 M33 -M34;-M41 M42 -M43 Mé4]
Cofac =

1986 525 ~&16 ~123%

136 -51 357 663
32 —145 84 -11C
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MATLAB Command Window

839

~50

>> Adi=transpose {Cofac)

Ad3 =
186
52%
~-616
~1239
>> A*Ad]
ans =
2261
0
b
¢
>> Adi*A
ans =
2261
G
o}
b
>>» det (A}
ans =
2261

>> AINV=Adi/det (A)

AINV =

G.0867
0.2322
-0.2724
~-0.5480

>» invi{A)
ang =
0.0887
G.2322
~0, 2724
~-0.5480

>

G.0602
~(.,0226
0.157¢%
0.2932

0.0602
-0.0226
0.1578
G.2932

136
-51
357
663

2261

2261

0.
~Q.
0.
. 0487

G142
0641
G372

.0142
-0.
L0372
-0,

0641

6487

-49

32
~145
84
-110

226l

2261

0.0394
-0.0221
-G, 0217

0.0522

0.0394
-0.0221
~0.0217

G.0522

118

89
-50
~4%
118

2261
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